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integers n
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5. Find the solutions of x? — 2ax — b = 0 by completing the square.
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. Provea +ar+ar? + ... + ar"! =

% Show 3 xr1 = L =X
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6. (a) Evaluate 100 — 3n.
n=1

a(r - 1)

P for all 2 and r, by

mathematical induction, where 7 is a positive integer.

2. Evaluate the sum of the first 10 terms of the series
S+8+134+21 +34+55+....

by mathematical induction.

4. Evaluate the sum of the first 20 terms of the series
3+454+9+174+33+65+...
(hint:3 =2 + 1,5 = 4 + 1 and so on).

5. A factory sells shoes at $60 each. For 10 pairs of shoes there is a discount,
whereby each pair costs $58. For 20 pairs, the price of each pair is $56, and

(a) the price of each pair of shoes on an order of 100 pairs
(b) the total price of an order of 60 pairs of shoes

(b) Prove E 100 — 3r = %(197 — 3n) by mathematical induction.
r=t

7. Find the sum of all integers between 1 and 200 that are not muitiples of 7.




